A pendulum may be used to determine a value for the acceleration of free fall g. Measurement are made of the length L of the pendulum and the period T of oscillation. The length of ten oscillations are measured for three times.

The values are shown are below

	Length/m
	Ten oscillations 1/s
	Ten oscillations 2/s
	Ten oscillations 2/s

	921
	19.3
	19.6
	19.0



a. Explain why measuring the time of 10 oscillations help obtain more precise value of the period


b. State any assumption necessary for your previous answer


c. Provide a unified value for the period of the pendulum in seconds including its uncertainty 


d. The relationship between T, L, and G is given by 

Using you answer in (c) and the value of the length, calculate the value of g with its uncertainty.


